6-2
(Key Question) Consider a nation in which the volume of goods and services is growing by 5 percent per year. What is the likely impact of this high rate of growth on the power and influence of its government relative to other countries experiencing slower rates of growth? What about the effect of this 5 percent growth on the nation’s living standards? Will these also necessarily grow by 5 percent per year, given population growth? Why or why not?

If a country’s economic size is growing faster than the rest of the world then this country will gain influence in the international sector. China is a classic example of this phenomenon in the last decade. This is because a greater share of the world’s goods and services are produced in this country. If a country’s living standards are increasing at 5%, this implies that output is increasing at a rat of 5% above population growth. If this rate of growth is greater than that in other countries, political influence will increase as well.
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(Key Question) Catalogue companies are the classic example of perfectly inflexible prices because once they print and ship out their catalogues, they are committed to selling at the prices printed in their catalogues. If a catalogue company finds its inventory of sweaters rising, what does that tell you about the demand for sweaters? Was it unexpectedly high, unexpectedly low, or as expected? If the company could change the price of sweaters, would it raise the price, lower the price, or keep the price the same? Given that the company cannot change the price of sweaters, consider the number of sweaters it orders each month from the company that makes its sweaters. If inventories become very high, will the catalogue company increase, decrease, or keep orders the same? Given what the catalogue company does with its orders, what is likely to happen to employment and output at the sweater manufacturer?

If the inventories are rising for sweaters then we know that demand for sweaters must be falling. This is because prices are fixed, so this implies that people are buying less of the good due to a decrease in demand (see Figure 6.1b). In most circumstances, this accumulation of inventories suggests that the demand for sweaters was unexpectedly low since companies try to smooth out production to minimize costs. 


If inventories start to accumulate then this company will reduce its orders from the production company. Given this reduction in the purchase of sweaters by the catalogue company, the firm producing the sweaters will reduce output and in most cases reduce employment. Thus, output and employment is likely to decline for the sweater manufacturer.

